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( Start I

y

Attempts = 0
<
: ]
Input Output _
assword message asking
i user to re-enter

Allow entry
to program

p;:stwhgrd Attempts = Is Attempts
correct? Attempts + 1 =37

End

Output message
informing that
account is locked

End
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Input
dice]
dice?
dice3

Are all three
equal?

Y
Score = dicel +
dice? + dice3

Y

L i Y ( )

Output
score
) J A 4

End
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AT A, LT Y

Charge=0
Total=0
number=>0

-

h

Input
customer

Charge=105
number=number+1

Input age

Charge=55

)

Charge= 95

)

Total =Total
+Charge

Total=Total-10%

J
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Is total >100 ? No ../ OUTPUT "Enter
7 a number"
k
INPUT number
OUTPUT total /
r v
End total = total + number
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W
/ Input num /

es
Is num = 107 -—y———fr / Qutput
/./ num * num

No

Is num = 57 —_—> / Output
/ num + 10
L No

/ Qutput num /

=
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Prinl
Largest is
MNUMZ

Print largest
is MUM1
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Star
[npul A, B, C
BIG=A

BIG=E

BIG=0C

Wi la BIG

Stop
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Stan

Print |

l=1+1 -

Stop
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Start

Print i

Stop
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Star

Input Value
of N

L4

SUM =C

is Yes
| =N

Ma

SUM =5UM + | Print SUM

v

| = +1

Stop
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Star

Input Value
of NUM

"""---._,_‘_‘_‘_H—“h‘

yes

Mo

PROD=NUM * |

Write 1 x NUM
= PRCD

i=i+1
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Stari
Y
f Input MR .'

R=SQRT{NUM)
i=2

LM is a Prime
number

MUM is not a
Prime number

i=i+1

“
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Read M

FACT=FACT * |

i=i+1
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Star

Read N

if (N%D==0)

Frint D

D=D+1

-
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